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B. Infinite Tree
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C. Domino
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D. Quadratic Form

O00D0D0000000 $A$g0 00 $\boldsymbol{x}”~{T}A\boldsymbol{x}\lel$ O OO
0 0$\max_{\boldsymbol{x} }\boldsymbol{b}~{T}Hboldsymbol{x}$[

OO00O000O000O0bOO00DOO00obOO0bOOoOoD KKKToooooooboooooo

$$ \begin{cases} \nabla f(\boldsymbol{x})+\mu\nabla g(\boldsymbol{x})=\boldsymbol{0}\\ \mu
g(\boldsymbol{x})=\boldsymbol{0}\\ \mu\geO\\ g(\boldsymbol{x})\leO\\ \end{cases} $$

0o
$f(\boldsymbol{x})=\boldsymbol{b} ™~ {T}\boldsymbol{x} $[1$g(\boldsymbol{x})=\boldsymbol{x} ~{T
}A\boldsymbol{x}-1$[]

$$ \begin{aligned}

\text{tr}(\mathrm{d}g)&=\text{tr}(\mathrm{d}(\boldsymbol{x} ~ {T}A\boldsymbol{x}))\\
&=\text{tr}(\mathrm{d}(\boldsymbol{x} " {T})A\boldsymbol{x})+\text{tr}(\boldsymbol{x} ~{T}A\m
athrm{d}\boldsymbol{x})\\

&=\text{tr}((\mathrm{d}\boldsymbol{x})”~ {T}A\boldsymbol{x})+\text{tr}(\boldsymbol{x} ™~ {T}A\m
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athrm{d}\boldsymbol{x})\\

&=\text{tr}((A\boldsymbol{x})”~ {THmathrm{d}\boldsymbol{x})+\text{tr}(\boldsymbol{x} ™~ {T}A\m
athrm{d}\boldsymbol{x})\\

&=\text{tr}(\boldsymbol{x} " {T}A™{THmathrm{d}\boldsymbol{x})+\text{tr}(\boldsymbol{x} "~ {T}
A\mathrm{d}\boldsymbol{x})\\

&=\text{tr}(\boldsymbol{x} "~ {T}A™ {T}+A)\mathrm{d}\boldsymbol{x}) \end{aligned} $$

O

$\mathrm{d}g=\text{trH\left(\left(\frac{\mathrm{d}g} {\mathrm{d}\boldsymbol{x} }\right)~ {T}\mat
hrm{d}\boldsymbol{x}\right)$g0 0 O O O

$\frac{\mathrm{d}g} {\mathrm{d}\boldsymbol{x}}=2A\boldsymbol{x}$[0 O
$\boldsymbol{b}+2\mu A\boldsymbol{x}=\boldsymbol{0}$00 $\mu=0$J0 0 00O
$\boldsymbol{b}=\boldsymbol{0}$00 O O O J$\mu>0$1C O $g(\boldsymbol{x})=\boldsymbol{0}$[
00O $\boldsymbol{x}=-\frac{1}{2\mu}A~ {-1}\boldsymbol{b}$[]0 O

$$ \begin{aligned} &\boldsymbol{x} " {T}A\boldsymbol{x}\\
=&\frac{1}{4\mu~ {2} }\boldsymbol{b}~{T}A~{-1}AA”™ {-1}\boldsymbol{b}\\
=&\frac{1}{4\mu” {2} }\boldsymbol{b}~ {T}A™{-1}\boldsymbol{b}=1 \end{aligned} $$

0 O 0$\mu=\frac{1}{2}\sqgrt{\boldsymbol{b}~{T}A~{-1\boldsymbol{b}}$J0 0 00O OO $-
\sqrt{\boldsymbol{b}~{T}A” {-1}\boldsymbol{b}}$[

E. Counting Spanning Trees

good

F. Infinite String Comparision

gobuooobbooobobooobbooobbuooobo

D00000 $jaj+|b|$ 00000000000 $ja,/bj$ 0000000000000
O0$\ged(lal,lb)$ 00000000 OO0OODOO

G. BaXianGuoHai, GeXianShenTong

$(\text{mod}+1)(\text{mod}-1)$ 000000000000 000O0OOOO0O
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